‘} Genetics Test Study Guide Name:

1. Color blindness is a recessivi trait. Both the mother and father are carriers. Use a Punnet Square to

determine the following. What percentage of the offspring are Normal? 15 % What percentage of

the offspring are carriers? g % What percentage of the oﬂﬂ:brmg are colorblind {affected)? _, T%
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What percentage would be white?
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3. In purple people eaters, one horn is dominant and no horn is recessive, Draw a Punnet Square
showing the cross of a purple people eater that is Purebred for horns {HH) with a purple people eater
that does not have horns {hh). What percentag’e of the offspring wou\_‘ have a horn?| ﬂi ) % What

percentage would have no horns? _( %
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4. Mendel found that crossing round-seeded plants with wrinkle-seeded plants produced only round-
seeded plants. What phenotype of seeds would you have if you crossed a {Rr) with a (Rr}?

R = Dominant Round r = Recessive Wrinkled F\ e '
What percentage of the seeds waould be round? ﬁ% . P\ RK E p
What percentage of the seeds would be wrinkled? _15; % e ?\—r e
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